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900*700*450
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900*700*450
1
8
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2t 18km
DID BH 0.08m3 1 m3
2t 9.5km
DID BH 0.08m3 1 m3
2t 7.4km
DID BH 0.08m3 0: m3
2t 8.2km
DID BH 0.08m3 2 m3
2t 8.9km
DID BH 0.08m3 0. m3
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600V-CE 3.5sq-3c

35
CEE 1.25sg-5c
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KPEV 1.25sq-5p
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KPEV 1.25sq-2p

212

IE 2sq
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HIVE 28mm
34
HIVE 22mm
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FEP 30mm
72
FEP
(VE-WP
300*300*300
5
(VE-WP
300*300*150
6
(VE-WP
150*150*100
11

10




W150mm 2

35

50Ax L400mm SUS304

11




NV30-FA 2P 30AF

2P 30A

SPD
JIS C 5381-21

SPD
JIS C 5381-21

lalb 2

NF30-FA 2P 30AF

Aix 2 Aox 1

2 4-20mA

12




900*700*450
8 m3 3
7.5cm 12.5cm
40 0 m2 4
( ) 10t
( )
10% ( ) SD-295 D10mm 01 10
m2 5
18-8-20(25) BB 60%
3 m3 6
5 m3 7
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900*700*450
15cm
8
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m2 9
7 m3 3
7.5cm 12.5cm
40 0 m2 4
( ) 10t
(
10% ( ) SD-295 D10mm 01 10
m2 5
18-8-20(25) BB 60%
3 m3 6
3 m3 7
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100mm 1
RC-30  /1000* m2 10
( )1 50mm
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1.4 2.20 m2 11
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8
Ocm 10cm
0.08m3 4 m2 11
0.08m3( 0.06)
2 m3 12
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0.08m3 + 1 m3 13
( )
0.08m3 + 08 m3 14
( 1.8 a )
0.1
RC-30 4 m2 15
C X Had
50mm 13
t 50mm 4 m2 16
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0.08m3(  0.06)

0.2 m3 12
0.08m3 + 0.01 m3 13
0.08m3 + 0.1 m3 14
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2t 18K 10 m3
(ID ,  BH 0.08n3)
2t
[A]l = 1 2t [B] = 18.000 km
[Cl1= 2 DID DID [a]l = 1
[0] = 1 0.08m3 [F]1=1
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2t 9.5k 10 m3
(ID ,  BH 0.08n3)
2t
[A]l = 1 2t [B] = 9.500  km
[Cl1= 2 DID DID [a]l = 1
[0] = 1 0.08m3 [F]1=1
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2t 7.4kn 10 m3
(ID ,  BH 0.08n3)
2t
[A]l = 1 2t [B] = 7.400  km
[Cl1= 2 DID DID [a]l = 1
[0] = 1 0.08m3 [F]1=1
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2t 8.2k 10 m3
(ID ,  BH 0.08n3)
2t
[A]l = 1 2t [B] = 8.200  km
[Cl1= 2 DID DID [a]l = 1
[0] = 1 0.08m3 [F]1=1
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2t 8.9k 10 m3
(ID ,  BH 0.08n3)
2t
[A]l = 1 2t [B] = 8.900  km
[Cl1= 2 DID DID [a]l = 1
[0] = 1 0.08m3 [F]1=1
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( ) 10t
0% ( ) ,SD-295 D10mm
<J1SG3112>
SD295,D10 0.56kg/m

1
[A] = 1 SD-295 D10mm =1
[B] = 2 10t =1
[p] = 1 =1
[Fl= 1 0% ( =1
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1
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xX]= 2 11
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( ) ( 100 m3
( 0.08m3
+
0.08m3(  0.06)
i1
« )
60 80kg
126 m3
2t
126 m3
1
]
[c]=1 [DS] = 15
[sk] = 3 @t ) [A] = 126.000 m3
[B] = 1 0.06) [X] = 2
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( 0.08m3

100

m3

0.08n3(  0.06)

i1
« )
60 80kg
1
[C]=1 [DS] =|19
[A] = 0.000 m3 [B] = |1 0.08m3( 0.06)
xX1= 2
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( 1.8 )1 ) 0.1 100 m2
( RC-30

RC-30
12 m3

2t
12 m3

« )

60 80kg

1
1
[C]= 2 [A] = 0.100
[yl]l] = 4 RC-30 [sk] =3 (2t
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«C Yo Hxa) 50mm 13 100 m2
(t 50mm s )
13)
12
12
( ) 0.5 0.6t
( )
40 60kg
]
[B]=1 1 t 50mm [A] = 50.000 mm
[C]= 2 [p] = 2
[E]1= 3 [F]1 = 14 13
[yal] =2 [6] = 0.000 t/m3
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M = 1
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( ) 2t 10.7km
(ID , BH 0.08m3)
2t
- ot [B] = 10.700 km
= 2 DID DID [a] =1
=1 0.08m3 [E] = 2
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As 5cm As 22
( ,
10cm 50m
1

1
[Al =1 [B] = 5.000 cm
[C] = 22.000 [DP] = 0.000 cm
[E] = 0.000
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C )
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[J2] = 1

50mm
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Q)
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0.28m3[  0.2m3]

:2

]

« D

1
EJl%:l [32]1 = 5
J5] = 1
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7.5cm 12.5cm m2
40 0
Q) ()
(
1
[J1] = 2 7.5cm 12.5cm [J2] = 8 40
[33]1 =1 [sk] =3 @t )
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18-8-20(25) BB 60%
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[sk] = 3 2t )
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[ 1
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